6 A Kab. 6b Kab.
PasroBopsl 0 BaxxHOM 125 PasroBopsl 0 BaxxHOM 413
iz 1 ypok Pyccknii si3b1k 310 AHTJIA3BIK 403\420
= 2 ypok AHTJIS3BIK 307\420 Maremaruka 413
§[ 3 ypok TexHoMOTHS 125 OO01mecTBO3HAHNE 109
% 4 ypok buonorus 409 Maremaruka 413
= 5 ypok Maremaruka 413 Pycckuii s13p1x 309
6 ypok TexHomorus 125
1 ypok Pycckuii si3bIk 310 Hcropus 109
2 ypok Mar.np.\2-¢ sI3bIKH 413\418\305 AHTJLA3BIK 403/420
E 3 ypok Jlurepatypa 310 Mar.np.\2-¢ si3p1Ku 413\305\418
& 4 ypok AHTILA3BIK 307\420 Pycckuii s13p1k 309
& 5 ypok Hcropus 109 Du3KynpTypa c\3
6 ypok I'eorpadus 304 Jluteparypa 309
1 ypox Uctopus 109 TexHonorus 125
2 ypok AHIILS3BIK 307/420 Martemartuka 413
= 3 ypok Pyccknit si3b1k 310 AHTJLS3BIK 403/420
é. 4 ypoxk TexHonorus 125 Uctopus 109
5 ypok Pycckuii s13p1x 310 Jluteparypa 309
6 ypox Martemartuka 413 Pycckuii s13p1x 309
1 ypok Pycckuii s13p1K 310 Pycckuii s13p1k 309
2 ypox JIutepatypa 310 Maremaruka 413
ot
& 3 ypok AHIILA3BIK 307/420 buonorus 409
2
:; 4 ypoxk duskynpTypa c/3 My3bika 208
5 ypok OO0mecTBO3HAHUE 109 Pycckmit s13p1k 309
6 ypox Mys3bika 208 AHIILA3BIK 307/420
1 ypok Ou3KynpTypa c\3 Pycckuit s13b1k 309
= 2 ypok Pyccknit s13p1k 310 I'eorpadus 304
E 3 ypok Maremaruka 413 JIuteparypa 309
E 4 ypoxk Jlutepatypa 310 AHTILA3BIK 307/420
5 ypok AHIILA3BIK 307\420 Maremaruka 413
6 ypox Martemartuka 413 duskynpTypa c/3




